o(d x) (um) for PV

Ratio

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

10 3

10E::

.....

...........

......

10?

So. (Ge\})03

o0 X) (um)

Ratio

10°

102: B

o(d x) for merged vertices (um)

Ratio

10%E

10? F-::

lo F-

Lo

LOSE----{i -1

0.95F - --J- i+t - B R AL - 4 64
0.9E

—=— DQM_TT original
—— DQM_TT_newscore

10%E::

1.2F

0.8F
0.6F

10°F::

10E::

10f::

1.2

0.8F

0.6F

a(0y) (um)

Ratio

0(0 2) (um)

Ratio

10°[

102: b

o(d y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

10°E

107 T

10° Fo:

107|221 e




	Contents
	Page 1


